Review Probability Name X €>/ Period

Evaluate and show the set up.
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4. The company Sea Esta has ten members on its board of directors. In how
many different ways can it elect a president, vice president, secretary and

treasurer? oV, -so40 e W0 q -8 7 - 504D
pres P seC dreos
5. Inthe Long Beach Air Race six planes are entered and there are no ties, in

; . ey

how many ways can the first three finishers come in bPa %120 m L % ,g:d =120
ot g

6.  Afour person committee is to be elected from an organization’s membership

of 11 people. How many different committees are possible? |, Cy = 2 30

7. There are 12 standbys who hope to get on your flight to Hawaii, but only 6
seats are available on the plane. How many different ways can the 6 people be
selected? |, C, = 92y

8.  The model car you are thinking of buying is available in nine different colors
and three different styles. In how many ways can you order the car? =2 = 27

9.  Abook club offers a choice of 8 books from a list of 40. In how many ways
can a member make a collection? 4pCq = 76 904, LES

10. Suppose you find seven articles related to the topic of your research paper.
In how many ways can you choose 5 articles to read?

11. 7L 7 21
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. How many total outcomes are possible?
b. P(A)= /b = Vo
c PB)= 3/, = Yy

d. P(ANB) =2/, = Y/n
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. PlAIB) = 2/s




Given the data collected from 200 individuals concerning whether or not to extend the
iength of the school year in the table below answer the guestions,

For Against No Opinion
Youth (5 to 19) 7 35 12 &4
Adults {20 to 55) 30 27 20 771
Seniors {55 +) 25 16 28 9
o % 18 Lo 200
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13. Given that condition that a person is an adult what Is the probability that they are in favor of

extending the school year? P[For{Adult) = 30

17

14, Given the condition that a person is against extending the school year what is the probability

they are a Senior? P (Senior|Against] = | b
LA =

1%

15. What is the prohability that a person has no opinion given that they are a youth?

P [no opinion] youth) =

|2
SY
16. The most important meal of the day.
Notation Z-way Table
Key:
Male=M Female=F
Eats Breakfasi=E Doesn't Eat Breakfast=D Eats Doesn't Total
Sample size = b2 Mal U
PE)= 351 PEM)= 20T S N 7 A I - I K
beS Female -
P(ENM)= 241 PB(EIF}= |oY oY \Sb | 20O
b3S 260 Total Y-S 324 685
P(ENF) = 1oy
225
Venn Diagram Tree Diagram
E(3%) =_2417
M (62%) V4
Has N D= 173
E o) =_ 104
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17. What is the probability of selecting a King from a deck of cards followed by a

107 ith replacement witheut reple cement
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18. Two cards are selected from a deck of cards. First a red card is chosen and
without replacement a queen is chosen. What is the probability?

(%,)(%T =. D%QZ

19. Three numbers are chosen from cards numbered 1-10. First a three is
chosen and without replacement a two is chosen and not replaced and then a 10 is
chosen. What is the probability?

LY LY L -
(TSX‘%X 2 ) = L,0013%%
20. What is the probability of flipping a coin and getting heads three times in a
row?
ENEN ‘/é,\) - Vg = L 125

The following data represents the number of men and women passengers aboard the titanic
amd whether or not they survived.

21.
Survived Did not survive Total
Men 146 659 805
Waomen 296 106 402
Total 442 765 1207
P(w) = 122
1207
P{s]= 44
{2077
P(s|w) = 29¢
Yog
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22. C(alculate the probability of each spin.

P(>2)= Y
P(S‘})': 2-/—7
P(=6) = Ll/_T
23, Calculate:
5! =120 3! =06
5:4.3.2:12 |20y 3:2-132 (,
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24. On a die numbered 1-6, what is the probability of not getting a 3?

5,
What is the probability of getting a 7?
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25.  The table shows patient data for red-green color
blindness in one doctor’s office.

M: means male ': means not male
C: means cofor blind  C’: means not color blind

Find the following probabilities:

= Y20
3121 32T
2.0
M M’ Total
C 42 4 46
c 363 591 954
Total 405 595 1000

Draw a Venn diagram to represent the given data.

PO~ ik,
b) P(M'nC) = 59|
1000
c) P(MIC) = 202
454
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